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int main(void){
ios::sync_with_stdio(0);cin.tie(0);

cin>>N>>Q;
(0=
| I 2 -
cin>>x>>1;

cout<<query(x, i)<<"\n";
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cout<<res;
res;
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int main() {

ios::sync_with_stdio(false); cin.tie(0);

int N, Q; cin >> N >> Q;
(Q—) {
int i, j; cin >> i >> j;
cout << solve(N, j, i) << '\n';
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On Wall Street from Wonderland, we have n banks, with 10000 > n > 0. Each bank has exactly
two neighbours, the left (L) and right (R) neighbour. The first bank’s left neighbour is the last
bank, while the last bank’s right neighbour is the first bank. Each bank i(n>i>0) has a capital k;
with 32000>k;>-32000. The entire capital of all banks put together is known to be positive.
Whenever some capital k; of bank i is negative, the Bank Fairy can do a magic move and turn the
capital into a positive one. For instance, if ki=-7, after the magic move, ki=7. Unfortunately, the
magic move has consequences for both neighbours of bank i. Each sees its capital reduced with
the absolute value of the capital of bank i. For instance if bank L has capital k=5 and bank R has

capital kg=11, then after the magic move k;=-2 and kg=4.

Which is the minimal number of magic moves which the Bank Fairy has to do in order to make

the capital of all banks greater than or equal to 0?
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